Simplification d’Expressions (E)

Simplifiez chaque expression.

1.8—2+5a+3a+av+8 6. —x+x—Tx+x>+6+1
2.6—1+b—1+7+7b 7. —8+2bx+1—8+4+bx
. uv—2—v+ut+10+7 8. —14+V+10vV¥+14+2—v
4. x* —x7+572+7—9+87 9.1 -3+1—c+1+47

5. 10a —Sa* +ax+2+1+4 10. Sa —a—10a*+8—a—1
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Simplification d’Expressions (E) Solutions

Simplifiez chaque expression.

. 8—2+5a+3a+av+38 6. —x+x—Tx+x>+6+1
=av+8a-+ 14 = x> —TIx+7
6—1+b—1+T7+7b" 7. —8+2bx+1—8+4+bx
=T7b"+b+11 =3bx—11
.uv—2—2v+u2+10+7 8. —14+12+10V +142—v
=uv+u —v+15 =11V —v+2

X —xz 4577 +7—9+877 9. 1—-3+1—c+1+7

= x> —xz+1327+7-9 = —c+7
10a—5a*+ax+2+1+4 10. 5a—a—10a*+8—a—1
:—5a2+ax+10a—|—7 :—10a2—|—3a—|—7
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